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sifoman ts, S 101" -

Tel <hUCTl 8, ST R
(1) 100

(2) 1000

(3) 10000

(4) 100000

Ife A Tt afeem B, @ e & @ &

|1 Hfia dfge T8 g ?
(1) AA'

(2) A'A

G) A+A

4) A-A

2 3
1 =1

=

x 3 7
2 x 2
7 6 x

Ife gt

TS x = -9 B Y 31 Y& TR 3

1 2,7 @ 2,7

3) 2,-7 @4 2,7

}, a9 1A1003 _ SAIOOZ‘

=0 & TH

1 !

LCRAAGS STLABBRD T AkGe S THIGNEIIOR SYIANPPIINGS HRLASNLNTS AN 40 HTANRDIANOY THARRONINDT TSNS TVANNIND? THILED

The greatest integer which divides

101"~ 1 s equal to
(1) 100

(2) 1000

(3) 10000

(4) 100000

If A is symmetric matrix, then which

of the following is not symmetric

matrix :
(1) AA
2) AA
3) A+A
4 A-A

2 -3
IfA=ii

1 -1
is equal to
(1) 31
2) 21
3) 18

4) 11

If x = -9 is a root of the equation
x 37

2 x 2| =0,

7 6 x
then its other roots are equal to
(1 2,7 2) 2,7
3) 2,-7 4@ -2,-7

}then |A1003 _ 5A1002]

02
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€ TG, G
YC, ¥C, YC,; |
T € G

(D) xyz(x-y)(y-2) (z-x)

(2> (x (-2 (z-x)
(3) (x Y) (y—2) (z—x)

@) %"zz(x-y)(yﬂ)(z—x)

qrfies
1 +sin%x  cosx 4 sin 2x

sinx  l+cos’  4sin2x
sin’x cos’x  1+4sin2x

1 =[FdH T 8T

(1 1

@) 2

3) -1

4) -2

SrEfeth T x = 3(cos t + sin t);

y = 4(cos t — sin t) The HTdl
(1) e

(2) el

(3) AfauEe™

4 @

TWIARESLENOY ATisnB 4550 TViseBOIADS TWriEen>

TELANEAS SVAAABOL N S TOLLABOLUSS TN TYUNSOLIR VIAKRINOD T AR AN

XC] xC2 XC3
¥C, ¥C, YC; |-
ZC] ZC2 Z(:3

(1) xyz(x-y)(y-2)(z—x)

@ ZEa-y) (-2 (z-x)

3) 5 (x Y (y—-2)(z—x)

“4) (x Ny-2)(z-x)

The minimum value of the determinant

1+sin®x cosx 4 sin 2x
sinx  1+cos2x  4sin2x
sin®x cos’x 1+ 4sin2x
is
(1 1
@) 2
3) -1
4) -2

The parametric equation
x=3(cost+sint); y =4(cos t — sin t)
represents

(1) Parabola

(2) Ellipse

(3) Hyperbola

4) Circle



10.

11.

G x2 — y? = 4 I Ihgal &

(1 2
@) \3
(3) 22
@ 23

fag (—a, —b); (0, 0); (a, b) 3N (a?, ab)
2

(1) TE

(2) Tt Ty % o

(3) A & I

(4) ot < sfid

gfe dreigm & ifiens 6 w=TE 36
STg3e 1 e B a9 I IchaT 8
M 3 ® 3

3) 325 “ 33[2

Ffex +2y+3=0TqAM3x+4y +5=0
u FifomEer St g (1, 1) | e
2, Y srawiiEt 8@, @ 37 rfawee™
1 grfieeT g

M
(2)
3)
“

3x2+ 10xy + 8y2 + 14x + 2y +7=0
3x2+10xy +8y2+ 14x+ 22y +14=0
3x2+ 10xy + 8y? + 14x +22y +15=0
3x2 + 10xy + 8y? + 14x +22y +23=0

¢ 10.

T ————— e p e SRR R R

F-3

11.

The eccentricity of the curve
x> y2 =41is

(1) 2

() 3

(3) 22

@ 23

The points (—a, —b); (0, 0); (a, b) and

(a2, ab) are

(1) Collinear

(2) Vertices of a parallelogram
3) Verticeé of a rectangle

(4) Vertices of a square

If Latus Rectum of an ellipse is half of

its minor axis, then its eccentricity is

3 2

M 3 @ 3
3 .
oL ¥

Ifx+2y+3=0and3x+4y+5=0
are the asymptotes of a hyperbola,
which passes through (1, —1), then the
equation of the hyperbola is

(1) 32+ 10xy+8y? + 14x+22y +7=0
(2) 3x2+10xy+8y>+14x+22y+14=0
(3) 3x2+ 10xy+8y?+14x+22y+15=0
(4) 3x2+ 10xy+8y>+14x+22y+23=0

02




12. ‘olﬁy=x3+x+1?f?412y=x3+5xtﬂ

13.

14.
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Sfs ot Y &1 gHieR 2

(1) y=dx

(2) y=4x+1

(B) y=4x-1

(4) y=4x+3

x2+x+1
x2—-x+1

(1)

2 3‘1'
() 73

3)
Q)]

e X2 = 4y TUT @I x = 4y — 2%

2.1

1,0

3 1

1 31fererad 3 =Had O 8

e I G 8

(D

)

)

(4)

1o S} e}
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12.

13.

14.

The equation of the common tangent
to the curves y = x> + x + 1 and
2y =x>+5xis

(1) y=4x

@) y=4x+1

(3) y=4x-1

4) y=4x+3

The maximum and minimum value of

x2+x+1
=g ATe
x2—x+1

1) 2,1
1
@ 3.3

3) 1,0
@) 3,1

The area between the parabola x> = 4y

and the line x =4y — 2 is

(1) 9

2)

oo

3)

B R

4

oo
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16.

17.

o wguiyr ¥ @ y = sin 2x 3R

y = tan x % HET &% &
) 3log(3

@ 3lo8(5)
3 log(\2)
(4) log2-1

TSk y = xe AU Wy = 0 ¥ ufag &
T BT 3

(1) 3t e

@ 17

(3) 2t g

(4) fSrea T &

afe n W %1 Hem o =, -1 %
T 7 9T 1 % @O 3 B, q9 o
RN T AT fa=ed g

(1) 2

@ 2

3) 3

@ 3

13,

16.

} i

The area between the curves y = sin 2x
and y = tan x lying in the first quadrant

is

(1) %mgﬁa
@ 3oz (§)
(3) log (\2)
(4) log2-1

The area bounded by the curve y = xe™'

and the line y = 0 is
1 .
(D) 5 5q. unit

(2) 1sq. unit
(3) 2sq. unit

(4) Does not exist

If the mean square deviation of n
observations about —1 is 7 and about 1
is 3, then the standard deviation of

these observations is
(1) 2
2 2

() 3

@ 3
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18.

19:
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aﬁziwsﬁ ap, a,, a3.....an$5m%215%,
@ gEemadt a, + ib (1 <i < n) H A
Ll

(1) a+b

(2) a+nb

__nb
@) 3+5

(m+ Db

(4) a+ 5

T ST S 1 Igeteh T i ;

=t AT
0-7 19
7-14 25
14-21 36
21 -28 32
28 — 35 51
35-42 43
42 - 49 28
(1) 21
(2) 23.24
(3) 2542
(4) 26.79

S——— et s

i i e A AR et P S TS SeLSTEY TE=ben8 TR P —— b b ot

18.

19.

If the mean of numbers a;, a,. a3.....3,

is a, then the mean of the numbers a; +

ib(1<i<n)is

(1) a+b
(2) @a+nb
3) ﬁ+%
G)a+m+”%

Find the mode for the following

frequency distribution :

Class  Frequency
0-7 19
7-14 25
14 -21 36
21-28 72
28 —35 51
35-42 43
42 —49 28
(1) 21
(2) 23.24
(3) 25.42
(4) 26.79



20.

21.

22.

Teh 52 U1 <ht TIE | & & 0w, fem ugen
U 999 BT, Rl S & | g1 ul
% 3% B4 sl wilemar 2

(1) 2/13
) 1/51
(3) 1/221

4) 2/243

Ifg A a1 B g HeA 39 YHR 8 6
P(A) = 0.3, P(B) = 0.4 94T P(AB) =

0.5 a4 P(B/(A L B)) grft
(1) 0.30
(2) 035
(3) 0.25

4) 0.40

UﬁaeGﬁﬂﬁﬁn%ﬁeﬂp,n@f
IS 2 a9 aP &l hife 2

(1) 1
(2) n

(3) n¥+HA

(4) n@ AT

| 20. Two cards are drawn one by one

21,

22,

from a well

The

without replacement

shuffled pack of 52 cards.

probability that both being aces is
(1) 2113
(2) 1/51
(3) 17221

@) 2/243

If A and B are two events such
that P(A) = 0.3, P(B) = 0.4 and
P(AB) = 0.5, then P(B/(A U B)) is

(1) 0.30

(2) 0.35

(3) 0.25

4) 0.40

Ifa € G is of order n and p is prime to

n, then the order of aP is
1

(2) n

(3) lessthann

(4) greater than n

02



23. Afe H, G &1 3994 & U1 N, G &

24.

25.

02

TETAIRI SUUHE 2, a8 H A N8R
(1) H ! U SEE= STHIE

(2) H 1 Teh SEE T ST T
(3) G 1 Teh ITEHE T JEH e

(4) U1 39agg el 2 |

w5 5 4 o)

1 2
2 3)

—_

4
4

—_—
W
=S

(1245)(32154)%{;111:{%

(1 s
2 @23)
(3) 341

) (1531)

e —— TS Tt e

0=}

24.

25.

If H is a subgroup of G and N is a

normal subgroup of G then H M N is
(1) anormal subgroup of H

(2) asubgroup of H but not normal
(3) asubgroup of G but not normal

(4) not a subgroup of H

The inverse of the

[3 1 4 2)
is
2 3 41

permutation

341 2
) 1 4 2 3)
1 2 3 4)
@) \3 1 2 4
1 3 2 43}
P l314
1 2 3 4
) 1 4 3 2

The product of (124 5)(32154)is
(1) (15)

(2 23)

(3) 341

4) (1531)



26.

27.

28.

afe e wg G = {1, -1, i, —i}
H={l,-1) % I@gE ], WGHHSF
ot forst TEg= U

(1) et H

(2) whad Hi

(3) haet H 3T Hi

(4) Fael H, Hi 3 H +i

afe N, 71 N, G o TEm= 96 %,
@ @vs T G/N, 7T G/N, st &l
afg 3ii e afe

(1) N, N,

2) N,cN,

(3) N;N,e G

(4) N, =N,

(C, +) Tty FEI3tl 1 Th ANTcHS
wiE 2 | O it ¢ : C - C 9(2) =
7.V Z e Cgrufeafi@®, @ £2

(1) ohael FHHIT

(2) Thael Teheh! GHRIILT

(3) hed ATTSICH THDILET

(4) T

10

26.

27.

28.

If H= {1, -1} be a subgroup of a
multiplicative group G = {1, -1, i, -1},
then all the distinct cosets of H in G

are equal to
(1) only H
(2) only Hi
(3) only H and Hi

(4) only H, Hiand H +1i

If N, and N, are normal subgroups of
G, then the quotient groups G/N, and

G/N, are equal if and only if
(1) NN,

(2) NN,

(3) N;N,e G

(4) N, =N,

(C, +) is an additive group of complex

numbers. A mapping ¢ : C = C is

defined by §(Z) =Z, V Z e C, then fis

(1) Homomorphism only
(2) Monomorphism only
(3) Epimorphism only
(4) Automorphism

02




29.

30.

31.

02

Mt (R = {0, 1,2, 3, 4, 5}, +¢ xg), Al
R 2

(1) Y % 9T afed Jed

(2) &

(3) T e

(4) T % WS Ued I

gafig wg S, A 5 A 5 Al
we Bl

(1 5

() 25

3) 12

(4) 24

Zfe R T Teheh 1ad Eied At
FeRT 2 @t M, R 3 Sheg Toeed
=fg T A Al

(1) RMT& & 8 |

(2) MRTHEAT |

(3) RMTH&A R |

(4) RM T & & 2 |

a7 T ofiemr R el ®1 T
ToTS 2 7T T g (2 ++3) B, B
(1) ¥®+5x2-5x+1=0

() F=52+5x+1=0

(3) ¥ -5x*+5x—-1=0

(4) ¥-5x>-5¢-1=0

31.

32.

Let (R = {0, 1,2, 3,4, 5}, +¢ %) then
Risa

M
2)
€)
“4)

ring with zero divisors
field
division ring

ring without zero divisors

The number of elements of order 5 in
the symmetric group Sy is

1) 5

2y 25

3) 12

(4) 24

If R is a commutative ring with unit

element, M is maximal ideal of R iff

(1) R/Mis a field
(2) M/Risa field
(3) RMis a field

(4) RM is not a field

The cubic equation whose product of
roots is unity and one of the root is

@ ++[3)is

(1) ¥+5x2-5x+1=0
2y B ~52+5x+1=0
(3) ¥ -5x2+5x-1=0
@) x3-52-5x-1=0



33

34.

.

Ife OLys Olyyern O, FHISHTIT X" — py X"~ 1
+py X" 24 L H-1)"p = 0% YA &
@ (1 + ;) (1+oy).....(1 +a) FH
LIERS

(1) 1-p;+py—cc. +(=1)"p,

2 1-t~pl-irpz-F.....+pn_I

3) l+pl+p2+.....+pn

(4) Py+ Dyt .t

TR0 X3~ 18x —35=0% qeT &
(1) i arsfess v w9H

(2) =i Ir=las wd 3EHH

(3) Tt ooy

(4) T ATt i S it v

aiftert, e g g g
253 —4x? +5x +3=0% T&i & 2
e 2, st R

(1) 2x3—-16x2—-45x+39=0

(2) 2x3—16x2 +45x-39=0

(3) 23 +16x2+45x+39=0

@) 2x3+16x2+45x-39=0

LR U S S SO N —

12

33.

34.

35.

If a, o,,....00, are the roots of the
equation x" — p, x" 1+ p, x" =2+ .

+(=1)" p, = 0 then the value of

(1 F @) (1 s ) e (1+a)is

The roots of the equation x> — 18x—35 =0

are
(1)
(2)
3
4)

all real and equal

all real and distinct
all complex
real and two

one complex

conjugate

The equation, whose each root is more
by 2 than the roots of the equation

2x3—4x2+5x+3=0,isequalto
(1) 2x*—16x2—-45x+39=0
(2) 2x3-16x2+45x—-39=0
(3) 2x3+16x2+45x+39=0

4) 2x3+16x2+45x-39=0

02



36.

37.

38.

02

fg =qata afie x! — 332 - 6x—2=0
1 TF g& 1 ++2 8, 79 3@ fguma
TR G BT

(1) x*-2x+2

(2) ¥2+2x+2

(3) x2+2x-2

(4) x2-2x-2

ﬂﬁR,x+y=il‘dﬁﬂx—y=i1@

qfeg 8 B, Hajj(x2+y2)dxdyﬁ
R

I B
I —3
@ 3
® -3
4) -1

T y = e¥ W ashar e, 39 fog W
T 98 y-3187 < HIeAT 3,

(1) 2

@ 2

3) 22

\2

2

(4)

38.

If one of the root of a biquadratic
equation x* — 3x* — 6x — 2 = 0 is
1 +1/2. then its quadratic factor is

(1) ¥-2x+2
P4+2x42
2 +2x-2

x2-2x-2

If R is region bounded by x +y =% 1

and x — y = £ 1 then the value of

integral jf(xz +y?) dx dy is

A
M -3
® -3
® -3
@) -1

The radius of curvature of the curve
y = ¢* at the point where it crosses the
y-axis is
(1 2
@ 2
(3) 22

\2

@



39.

40.

41.

gg-31el aret g, bl g qen
Tad P& BT I IR “d’ 7, B A=A
g

() P+y?=d

2) x23 +y¥3 = 2423
(3) x23 +y23 = (2d)?3
(4) %23+ y23 = 423

Ay = fi(x +at) + £,(x - at) g, iﬁ’%

%fgarn

(1) a2

/2
f‘\Icot DR ITh
0

5

2

€)

E] \% o]
~
IS

@ 3

] 39. The envelope of co-axial ellipses, the

i
|
3
i
!
;
i
|
|
!
i
i
i
!
!

14

40.

41.

sum of whose major and minor axes is

constant ‘d’ is

(1) 2+y?=d
2)
3)

(4)

x2!3 + y2:’3 = 2d2!3
x2a’3 + },2!3 - (2[1)2”3

23 + },2!3 =d23

If y = fi(x + at) + f(x —

at), then

/2

02



42.

43.

44.

02

g f(x) =xsin31;;x e [-1, 1}; f(0) = 0,
A=A T E R ?

(1) [~1, 1] Teft s e

(2) WA S AT

(3) [-1, 1] fix) Haa

(4) Il S WA

afe x e [0, 1]; f(x) = x* 3w P

ww%ﬁﬁp={ 3 E}?ﬁ

05 T s eeeees L]
nn n

St BRE A U(f, P) SR 2

+1)2
Ohrn

—1)2
py gt

s A y— yeBALA TS WaSTre Tt g A TYRSeiStS Tk e TR Sriat

15

42,

43.

44.

1
If f(x) =x sin;; xe[-1,1]; f0) =0,
then which of the following is true

(1) Rolle’s theorem is applicable in
(-1, 1]

(2) Lagrange’s theorem is applicable

(3) fix) is continuous in [-1, 1]

(4) Cauchy’s theorem is applicable

For x e [0, 1]; f(x) = x> and partition P
1

be such that P = {0,—, g, ...... E}, then
0’ n n

upper Darboux sum U(, P) is equal to

12
iy o
(n—1)?

A bounded sequence is

(1) Convergent or oscillatory
(2) Divergent or oscillatory
(3) Always convergent

(4) Always divergent



45.

46.

47.

Soft (x + 1) _(x|;1)2+ (x‘;])Li B

%ﬁ+ .. JTOETT BIR

(1) afe2<x<0

2) I-2<x<0

3) FEx<2Tx>0

(4) x o Torelt off arafas 7@ & oo
EE

sﬁvﬂﬁ[nfﬂ_nz—@nﬁ
(1) AfrEr

(2) IrgEr

(3) et

(4) T ° IS T

Ife f(z) Terveifa wer 8,a9 £'(z) B

¢ e OF

(1) (cos(—]+1smE})6r
of

(2) (cosO—1sin 8)5
f

(3) (cos 6 +1isin 9)%

of
(4) (cosO—isin0) 0

45.

46.

47.

(x+1)2+(x+1)3

The series (x + 1) —

2

= |_ g g diverges

(1) if-2<x<0
2) if2<x<0
(3) ifx<-2o0rx>0

(4) for no real value of x

1y
The series E(l + HJ is

(1) Convergent
(2) Divergent
(3) Oscillatory

(4) None of these

If f(z) is an analytic function,

f'(z) is

(1) (cos B +1isin 0) o
(2) (cos B —1isin 8)%f
(3) (cos6 +isin 6‘)%

of
(4) (cos O —1isin0) B

B

then

02
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49.

50.

02

™2 sin 2y T TIH! JH B o
—2eZcos2y+C

2e X cos 2y + C

e cos2y +C

2¢ % sin 2y + C

fea sam T FifE i faegat
Z=2, 1,0 %A% W=1,0,id

T hdl &

_2i@+1)
D W=G+iz+2

2iZ-1)
@) W=1+10z-2

 2iz-1)
G W=T+nz+2

_2iz+1)
@) W=a49z-2

gfafeso fiz) =z 8

(1) ST

(2) geushefl

(3) 3T T Gerhiofl
(4) wfes

oy
~

48.

49.

50.

The conjugate harmonic function of

¢ sin 2y is

(D) ~Ze2ens2y+C
2
(3)

)

2¢ X cos 2y + C
e cos2y+C

2¢ Zsin2y+C

Find the bilinear transformation which
transforms the points Z = 2, 1, 0 into

W =1, 0, i respectively.

2@+ 1)
M W=a+z+2

 2iz-1)
@) W=T+)z-2

2iZ-1)
() W=+nz+2

2i(Z+1)

& W ihz-3

The mapping f(z) =z is
(1) Conformal
(2) Isogonal

(3) Neither conformal nor isogonal

(4) Analytic



52,

3.

1 =

2 -

(%) TA

3Tl G
(x—a)p? + (x—y)p—y = 0 ST&l

d
p=5 FEAR

a02

I=kig

(1) y+ex?=

@ o-y=T1g

ac?
1+c

(3) ex—y?=

2
a
@) cx+y=13

;

|

|

I

i

i

!

I

]

ac? i
i

|

l

i

i

i

|

1+c i
H

JTHA FHHW p = tan (px — y) &I

d
p=a§‘3,msﬁ‘aﬁ‘ﬂ

(2) y=c+xtanlc

i

!

|

(1) y=c—xtan!c %
|

(3) y=cx—tanlc |
|

4) y=cx+tanlc

S1.

52.

| 53,

e”
= d7 18
i)2

Value of the integral f (z—

1
z~2l—l

i —

@ &

dn
@)

(4) zero

Solution of differential equation

(x-a)p*+(x-y)p-y=0,is

where p = %

(1) y+oex?= 1a~(l:-20
@) exoy=
G)cx—ﬁ=1?i
(@) ex+y= laizc

Solution of the differential equation
p = tan (px — y) where p :%

(1) y=c—-xtan¢c

2) y=c+xlan_1 c

(3) y=cx—tan! ¢

(4) y=cx+tan'c

02



54.

55.

56.

57

02

e 31gsher grfieor px + qy = pq
GIE B 2

(1) p=x+y+a¥ (2) p=ax+ydq
(3) p=x-y+a¥ (4) THAFE T

xX(y* + 2)p — y(&? + 2)q = (* - yH)z
et foa wman &

(1) d(x+y+2z,x?+y2+22)=0

(2) ¢ (xyz, x2+y2+22)=0

(3) ¢ (xyz, x2+y2-22)=0

1 11
@ o(z+3+Lxryra)=o
dy
mawatﬂaﬂmdx2+3y=xsinxa§r
fafere worere= 2
I
(N 'z“'(xsinxucosx)

1
2) 5 (x sin x —%cos x)

(3) Z(x sin x — cos X)
@ %[x sinx‘%cosx)
afe F s Bifenfr afew 87 2 a1 ¥ =xi

+}‘j+zk%,ﬁan(?x?)@"T[

1) (V-B)T-(G-VF

@ V-B)T-GT -VF-F
3) (V-F)T-(-V)F -2F
@ (V-F)T-(T-V)F-3F

ey
o

h
o

3.

56.

57.

The partial differential equation
px + qy = pq is satisfied by
(I) p=x+y+a (2) p=ax+y

(3) p=x—y+a (4) None of these

Solution of x(y2 + z)p — y(x2 + z)q =
(x2 —y?)z is given by

(1) ¢(x+y+z,x2+y2+22)=0

(2) ¢ (ryz, X2 +y2+2)=0

3) ¢ (xyz, x2+y*-22)=0

@ o3+ +5xryrz)=0

The integral of the

d?y
dx2

particular
differential equation =75 + 3y = x sin x
is
(1 E(x sin x — cos x)
st o)
2) 5 (¥ sinx—5cosx
1 .
(3) B (x sin x — cos x)
e
4) 7 \Xsinx—>5cosx
If ¥ is a three-dimensional vector field
— v . 5 e,
and r =xi+yj+zk then Vx(r x F)is
1) (V-BT=(T-VF

Q) V-B)T=(T-VF-F

3G) (V-F)T-( -V)F-2F
@ (V-BT-(F -VF-3F



58.

59.

60.

wer f(x, y) = x2 + y2 &1 g (1, 2) T/,
(45 +37) % Imfew fasp e

1)
(2)

wntn B wnle

3)
@ 1

afe o(x, v, z) T Ifew fag weH B,
TMF = Vo R &1 & ¥4, &ga o C

Wm%,ﬁa’jf?-drwﬁm
C

(1) ¢Cx,y,2)
(2) 2¢(x.¥.2)
(3) 3¢(x,y,2)
4 =

s v, @masti x = 0,y = 0, z = 0 3
2x+ 2y + 2z =48 UEg AE T |

M 7G-k @)

Wl W
Wl Wloo

3) @ zG-k

59.

1
|
1
|
1
!
|
i
|
|
|
| 60.
|
|
f
|
i
i
s
|
?
i

The derivative of the

function f(x, y) = x* + y? at (1, 2) in

directional

the direction of (41 + 3j) is
(1)
(2)

it &~ e

3)
@ 1

If ¢(x, y, z) is a scalar point function,

and F = V¢ everywhere in a region R

bounded by a closed curve C, then J. F.dr
C

is equal to
(1) oCx.y.2)
() 24(x,y,2)

(3) 3¢(x,y,2)
(4) Zero

IFF = (2 - 32)i — 2xy]j — 4xk, then

J-G .FdVis equal to

Y

where V is the volume bounded by
theplanesx=0,y=0,z=0and
x+2y+z=4

8 » &~
m36-bh @

S

=
|
<

4

Wl Wlce

4
G 3

02



01. ﬁ?=5t2i+tj—t3k, 61. If?=5t2i+tj—t3k,
: 2
i d24 _4} d_ '
aajp x@dt‘@ﬂ'ﬂ thenjl“ x a2 dt is
1 1
(1) 10i+j—6k , (1) 10i+j—6k

(2) —14i+15j-15k
(3) —14i+75j—15k
* (4) —14i+45)—15k

(2) —-14i+15j-15k
(3) —14i+75j—15k
(4) —14i+45j— 15k

62. If the direction cosines of two lines

62. e a1 Y@t it fgE=ad /- 2m+n=0
qeT 12 — 2m?2 + n2 = 0 g & Sl &1, ol

are given by / — 2m + n = 0 and

2 - 2m? + n? = 0, then the angle

39 {@13l o == 0T o
between the lines is
L
(1) 0 = cos ](3) (1) BZCOS_] [%)
i
(2) 0 =cos™! 'E,;) % 2) 0 =cos™! %)
3
(3) 6=cos™ E) (3) 8=cos™ %)
4
(4) 0=cos™! 3_] (4) 6=cos™! @
gax by ezx ¥ z 63. The straight li & N
63. TS WK i - I}_Yaﬂ( e straight lines” " ="3"="7%
x Y _Z ; 2L - s, g 20
ao. bB cy %, qﬁ o B y and Gl bB cy are

(1) a2+b2+c2=ac+bp +cy coplanar, if

a2 + h2 + 2= +bB +
(2) (ac +bp +cy)?=ab+bc+ca (1) a®?+b>+c?=an+bp+cy

(3) (b—c)(c—a)(a—-b)=0 (2) (ac +bp +cy)2=ab+bc +ca

(3) (b—c)(c—a)(a—b)=0
(4) (ab+bc+ca)?=(a—b)(b—c)(c—a)
o

(4) (ab+be+ca)®=(a—b)(b—c) (c—a)

02

™~
=



64. THAA!

66.

2x -2y +z+3=0
—4y+4x+2z+5=0
% Ted gl aUe 3

L».)Ih—-

(1

b | =

@

N —

3)

| —

)

Q%Wﬁax+by+cz=0,?ﬂ'§xy+yz

+ zx = 0 %] TTEEId G I@I3 | e
?, ST

(1) a2+b2+c2=1
(2) a+b+c=0
1 1 1
3) a+b+c=0

1 1 1
@ a+p+p=!]

34 S v b1 FEieRtor foreest it
(0, 0, 0), 31& OX a1 31 3 1T o &
(1) 2+y?>=22tan’a
() y*+z?=x?tan’a
(3) ¥2+z22=y*tan’ o

@) x*+y’+z2=tan’

~N
N

65.

66.

The distance between the planes
2x—2y+z+3=0
~4y+4x+2z+5=0

is equal to

LD | —

(1)

B =

)

€)

L E = e

4

The plane ax + by + cz = 0 cuts the
cone xy + yz + zx = 0 in perpendicular

straight lines when
(1) a?2+b2+c2=1

(2) a+b+c=0
1 1 1
G) a+b+c=0

1 1 1
(4) E+E+E= 1

Equation of the right circular cone
whose vertex is (0, 0, 0), axis is OX

and semi vertical angle is o, is
(1) x2+y?=7>tan’* o

Q) y?+22=x*tan’a

Q) 2+z2=y*tan’ a

(4) ¥ +y*+z2=tan’ o

02



67. @ = P AU Q HENM: o TS T Ib

68.

69.

02

FU GHAe h THETS QAT JHT o TR
FRE & | 70 ° T gHad W W IR
TR & | P2 — Q2 SR B

(1) W2tan? o

(2) W2 (cosec? o — sec? o)

(3) W2 (cosec? o — tan® at)

(4) W2 (cosec? o.— cot? at)

5 et oETg hl TH THET TS h Th
R A T 1 ey, 2 e, 3 e 34
e gt wosemen: 1 T, 2 TR, 3
fopam 3fit 4 R & WR ST 9T 2 |
ai ferar formg T g TR | Bl 2

(1) @g%s%iAﬁ%qrﬁam
) @g%f@iAﬁ%rﬁaw
3) %%@Aﬂ%tﬁaq{
(4) w%ﬁAﬁgrﬂam

a1 @it P @R Q % S vl o B, AT
mqﬁwnrﬁ%(ﬁ())%lqﬁaﬁé@n

Wqﬁuﬂﬁﬁnﬁﬁqﬁnﬂﬁﬂﬁf?ﬁcoaa
TS E

§n2+2! (n+1)
(1) 2(1_n2) (2) (I'l*-l)
(@41 5 (n*-1)
(3) (112—1) () 2(n2+1)

|
|
|
i
|
|
|
|
|
|

et Yt oSS Wi et RSetd SHURE P lqmbiard st TUEE s M et S m—

]
(*3]

| 67.

68.

69.

Two forces P and Q acting parallel to
length and base of an inclined plane of
inclination o respectively. Each of
them support a weight W on the plane,
P2 - Q?isequal to

(1) W2tan® o

(2) W2 (cosec? a—sec? at)

(3) W2 (cosec? o —tan® )

(4) W2 (cosec? o — cot? )

The weights of 1 kg, 2 kg, 3 kg and
4 kg are suspended at a distance of
1 metre, 2 metre, 3 metre and 4 metre
from one end A of a uniform beam of
length 5 metres. Then at which point
the beam will be in equilibrium ?

20

(1) — metre from one end A of beam
17

2) = metre from one end A of beam
22

3) — metre from one end A of beam

18
(4) = metre from one end A of beam

The angle between the two forces P
1
and Q is o and their resultant isi P+ Q).

If greatest possible resultant is n times

the least, then cos o is equal to

§n2+2! (n+1)
Mm@ @

(n?+1) (0*-1)
3) (nz__l) (4) 2(n2+1)




70.

Ths

T2

s T Afes guae w1 adu T
tan A 2 | W ¥ & U TUug &l 39 99aal
R i o fore st st P fean st @
(1) P=Wsin(a+21)/cos A

(2) P=Wsin (o +L)/cos (a—L)
(3) P=WsinX/cos(ct—A)

(4) P=Wsin(a—2)/cos A

1 ABCD &1 o3l & Srfew shamn
P, 2P, 3P 31 4P a1 fopamsfiar & 1 396
gftorreft §/e1 R 1 afmor 2

(1) R=242P
(2) R=42P
(3) R=10P
@) R=-2P

2 forg v & W A w @ @0 W TE &
farg @ i # 3 | vEen RN A u d
TT g TR O £ 3 | g H e |
THed ¥ wed 3 Q fagHi & o
atfeream gl et

(1) %usz

(2) u¥f
(3) 2u¥f
(4) T 9 HiE TE

24

70.

71.

72.

The coefficient of friction of a rough
horizontal plane is tan A. The force P
required to pull a body of weight W on
this plane is given by

(1) P=Wsin(a+ L)/ cos A

(2) P=Wsin(a+A)/cos (a—1)
(3) P=WsinA/cos (aa—A)

(49) P=Wsin(—A)/cos i

Forces equal to P, 2P, 3P and 4P act
along the sides of a square ABCD
taken in order. The magnitude of the
resultant R is

(1) R=22P
(2) R=4[2P
3) R=10P
(4 R==2P

Two points move in the same line at
same moment from the same point.
The first with constant velocity u and
second with constant acceleration f,
before the second catches the first, the
greatest distance between the two

points is
1) S
(1) g H

(2) u¥f
(3) 2u¥f
(4) None of these

02



73.

74.

75.

02

TR w0 H T W AR g (r, 0)
I 3T = B

g _[doy
de2  \dt

dr (@)2

a2 ~\F dt
dr 2[@]

®) g2 "\at

d’r  d%
TR TE

)

(2)

(4)

Teh T3 1T | 71fd L T8 Teh U1 g o
61 75 gl s2 = at? + 2bt + c TR & ST
?, o1 oot fepweh Tt g ?

1
0 =
@ 3

@) 3

4 s’

Teh Ul GHAS 95k § 36 Wb TTfdl S
2 & 3ue! waefi-cwr, sifiers -
% U AT ] | $HHI a7 B

(1) s

(2) el hivT < HATFIC

(3) =Tt weff Shior S FHEAT

(4) Taeff ivr < vl 1 gHTaTd

25

74.

3,

Radial

particle at time t and at point (r, 0) is

d’r (@]2
a2~ \dt
d’r [@]2
(2) dt?‘_ r dt
d?r do
&) E*rz[ﬁ)

i dr 4%
@ 2 Tae

acceleration of a moving

ey

The distance travelled by a particle
moving in a straight line is given by
s2 = at2 + 2bt + c, then acceleration
varies as

1
(1) <
@ 3

G 3

(4) s

A particle is moving in a plane curve
such that its tangential acceleration is
acceleration. Its

equal to normal

velocity is

(1) constant
2
3)

proportional to tangential angle

proportional to exponent of

tangential angle

inverse  of

(4)

proportional  to
tangential angle



76.

1.

78.

YA % 3TATd TTHE U {STEeRT T&T
AT u TAT TET HI o B, BT GRI TTH hl
T$ IHAH 4TS 8

i 2

sin

2g

u o

(1)

u? cos? o
2g

u? sin 20
2g

u? sin? o
g

)
3)

(4)

V,(R) arsifees &9 W few |t g,
JMER V, = (0,0, 1), V,=(0, 1, 1), V;
=@1,1, )" g=Fa (3, 1, 4) &
frdzries afewr
1) 5,-2,3)
2y 5,2,-3)
B) (5,-2,-3)
4) (-5,2,3)

2 2 -3

Fegg| 2 1 -6 | JEW HEI
-1 2 0

<1 AT S @

(1 -2

2) -1

3) 0

@ 1

76.

T

78.

In projectile motion of a particle, with
of

projection a, highest height attained

initial velocity u and angle

by the particle is

2 2

u” sin” o

(1)
2 7>,
Q) —Hy

@ —

V4(R) is a vector space over the real

field, the coordinate vector of (3, 1, —4)
relative to the basis : V, = (0, 0, 1),

V,=(0,1,1)and V5 =(1, 1, 1)is
(1) 5,-2,3)
@ 5.2,-3)
3) (5,-2,-3)
4) (-5,2,3)

The sum of the eigen values of the

matrix
-2 2 3
2 1 -6 |isequalto
-1 =2 0

(1 =2

2) -1

3) 0

4) 1

02



79. AR F[F(x)] = fg(w) T F[F(x)] =

80.

81.

02

f(w) 8, T Fi(x) % HIRER 91 q20
HITER ST EYT=OT T I B

(1) wg(w) + wfa(w) — 2F(0)
(2) wig(w) — wi(w) —F(0)
(3) wig(w) + wf(w)—F(0)

(4) wig(w) - wi(w) — 2F(0)

afe J (x) 99 ®eH B, @I &)
Jn + I(x) H}TIT

(1) [03,() + 235091 / [T, (6) = 2T, ()]
@) [x,) +nIp()] / [x3, () — nJy(0)]
(3) [x,) + nIp()1 / [n3,(6) = xTp()]

4) [nJ (x)+xJ,()] 7 [x],(x) - nJ (x)]

afe t, b, n gt wfew & a1 Fe-Hi= g
e 9 8
() g™

A dn .
(2) ag=Kn,$=—1:n,E='rb+Kt
B) g5~ Kn. g

4 =K ";=~*m,a;='rb—Kt

i
!
1
|
i
!
i
i
!
i
i

|
|
!
i
z
i
!
{
]
2
E
|
|
!
.
i
!
i
!
!
i
|
i
H
!
|
i
|
z
i
}
|
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79,

80.

81.

If F[F(x)] = f4(w) and F.[F(x)] =

£ (W), then the sum of Fourier sine and

Fourier cosine transform of F'(x) is
(1) wigw) + wie(w) - 2F(0)

(2) wig(w) - wie(w) - F(0)

(3) wig(w) + wfc(w) - F(0)

@) wig(w) — wle(w) - 2F(0)

If J(x) is Bessel function, then

I, ) is

(1) [0J, () + X1,/ [n3,(0) = xT; ()]
(2) [xJ,() +nJy(@)]/ [, (x) = ()]
(3) [, ) + 3@ / [n1,() — xT,)]

() [0J,(x) +xT, )]/ [x],(x) — 0Ty (x)]

If ?, B, n are fundamental vectors then

Serret-Frenet formulae are given as

dt ~db .dn 4

(1) &=-Kn,£=—m,£—rb+m
dt ) d]g A dA a3

(2) E=Kn,£=—'m,d—rsl b + Kt
d‘t A dh N ol

3) E=—Kn,£=m,f=1bwl<t

4 s~ Km g ="



82.

83.

84.

nforf Tl % wh fog % TR @
a RrgH ¥ O A g
T gt

(1) n

) 2n

3) 1

(4) 2

Hifird 3l % @ Hehdl @ Jaria
HIf(x) g(x)] =R E

(1) ulfx)] pnlegx)]

(2) nlgG)] pfeo)]

1
(3) ulfee)] ulg)] +7 d[f(x)] 3[elx)]

1
(4) pfe)] plge)] +7 3[f(x)] 8[g()]

T B f(x) e yuw @ R
9%2 + 11x+5

(1) 3d=xt+x+k

() ¥-3x%+x+k

3) B+x2+x+k

@) 33 +x2+x+k

!
i
!
|
!
|
i
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| 82.

83.

84.

The number of geodesics passes
through two specified points lying in a
small neighbourhood of a point of

n-dimensional space
(1) n
(2) 2n
3) 1

4 2

Under usual notation of finite

differences p[f(x) g(x)] is equal to
(1) p{feo] nleG)]
(2) pleg)] pifeo]

! o
(3) k)] ngt)] +35 8[f(x)] 3[glx)]

1
(4) )] nle@)] +7 8[fx)] 8[g)]

The function f(x) whose first

difference is 9xZ + 11x +5
(1) 33 -x2+x+k
2) S-32+x+k
@) P+at+xtk
4) 33 +x2+x+k

02
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86.

87.

02

Jfe 2 a8 Uk 91 Hheh o &, af
urEl W AR g HEemst % oA
eI S 8

(1) 7

6
&) 2

3 3

7
® 35

Ffe yaH Afged

B
[ I O IV

1113—37
A
Im2 5 4 -6
Fuil
(1) 0

]%?‘ﬁ@?{?ﬁf{ﬂ

(2)

— b | —

)
@ 2

frafifas § @ w9 @ WHESIHS
TRTETE HAIATTS o ®9 H A8l ST
ST g ?

(1) I IR

(2) TarerRHqwe

3) fafemm S

(4) TEE HER

I ———— Y

[l
w

85.

86.

87.

If two unbiased dice are thrown
together, then the expected value of
the sum of the numbers on these dice

is equal to

(1 7

6
@ 36

(3) 5

@ 35

If pay-off matrix is

B
I o ariIv

I|13—37
A
Im2 5 4

game is

(1) 0

, the value of the

1
@ 3
3 1
“) 2

Which of the following Psychologist is

not known as  Experimentalist

Psychologists ?

(1) Ernst Weber
(2) Wilhelm Wundt
(3) William James
(4) Gustav Fechner



88.

89.

90.

91.

frfafad § @ = @1 fregor = Fuifa | 88

AR ?

(1) Hia &R
() _g=R

(3) Fa =R
(4) WTETeHS W

frfafea 4 @ =9 @ 3= fom f
faf & 2 2

(1) Terem et wfafa

(2) Fgent a1 geifere wfaft

(3) fem afafa wfafy

(4) e vt !

=3 o 6 REwast % ged § | 00

frafefaa d @ i AT S A @ ?

(1) srm1  Bewr fegFmees @
IUEIHS BT § | :

(2) e e ThaA BT B |

(3) 31 Requr Tgam W eTia gar
2l

(@) 3ot e e %1 EEa © |

Frafafeaa o @ =9 w1 fregon 97 7w
TS 9T 3| & 2

(1) a8 7T i 3T

(2) o & 30Yd hl AR

(3) fafse @ gmm= &6t 3R

(4) o1 & 319 i AR

w
Qo

89.

91.

Which of the following is not the
prescribed level of teaching ?

(1) Memory level
(2) Understanding level
(3) Reflective level
(4) Affective level

Which of the following is not the
techniques for higher learning ?

(1) Seminar technique
(2) Tutorial technique
(3) Symposium technique
(4) Conference technique

Which of the statement is wrong in
context of characteristics of Good
Teaching ?

(1) Good Teaching is both diagnostic
and remedial

(2) Good Teaching is Autocratic
(3) Good Teaching is Co-operative

(4) Good Teaching is organization of

learning

Which of the following Maxims of
Teaching is based on Gestalt
Psychology ?

(1) From known to unknown
(2) From concrete to abstract
(3) From particular to general

(4) From whole to part
02
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(2) foemm
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93.

94.

Who uses Hardware Technology very
first ?

(1) A.A. Lumsdane
(2) B.F. Skinner
(3) Mac Murin
(4) Davies

Who stated that “communication is the
sharing of ideas and feelings in a mood
of mutuality” ?

(1) Mckown and Roberts
(2) Anderson

(3) Edgar Dale

(4) Sorbtson

Which of the following is not the
correct ways of releasing pent-up
emotional energy ?

(1) Moodiness
(2) Displacement
(3) Regression

(4) Dominance

Which of the following characteristic
is related with formal operational stage
of Piaget’s Cognitive Development
Theory ?

(1) Symbolic play
(2) Egocentrism

(3) Children become aware of the
permanence of objects

(4) Individuals may acquire the
capacity for  deductive or
propositional reasoning
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99.

“weh wafs Al @ e seET g
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(2) TSI
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(4) TSI
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96.

97.

| 98.

99.

“An individual Judge morality in terms
the

characteristics shown at which level of

of abstract principles” is

Kohlberg’s moral development theory ?
(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Formal conventional level

According to Erikson which of the
following, is the most important crisis
faced by adolescents ?

(1) Identity versus role confusion

(2) Industry versus inferiority

(3) Initiative versus guilt

(4) Autonomy versus doubt

The term “adolescence” comes from

which Latin word ?
(1
)
3)
4)

adolescent
adolosce
adolescere

adolescet

Which of the following is not the

characteristics of Adolescence ?
(1) Contrasting mental moods
(2) Acquisition tendency

(3) Feeling of hero worship

(4) Maturity of sex instinct

02
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02

fepstivraer < Ty @ iEefiRl
T S 3 et W 6T e T B
27

(1) 30%

) 33%

(3) 40%

4) 45%

frafafaa § @ == € gl faem
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(1) i Wil 6t =g

(2) W HeEdl

(3) Tersire = wrer
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(3) AR G Ib T B IR Bl
21

(4) it g W R g |

| 100. At the end of the adolescence stage

33

101.

102.

weight of muscles is how much

percent of total weight of the body ?
(1) 30%
(2) 33%
(3) 40%

@) 45%

Which of the following characteristics
of adolescence is in context of social
development ?

(1) Need of social recognition

(2) Group membership

(3) Feeling of revolt

(4) Sex differential quality

Which of the following characteristics
is not related with the connectionism

learning theory of Thorndike ?

(1)

learning involves trial and error

(2) learning is the result of the

formation of connections

(3) learning is not insightful but is
incremental

(4) learning is  dependent on
cognition
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| 104.

105.

106.

Which of the following is not the other

name of Tolman’s Theory of learning ?
(1) Sign learning theory

(2) Expectancy theory

(3) Insight theory

(4) Sign Gestalt theory

Which of the following is not the steps
of System Approach ?

(1) System Analysis
(2) System Design and Development
(3) System Operation and Evaluation

(4) System Guidance

Which of the following

model is

teaching

not related with the

information processing model ?
(1) Inductive thinking model
(2) Role playing model

(3) Concept attainment model

(4) Advance organizer model

Who was the propounder of Advance

organizer model ?

(1) David Ausubel
(2) Joyce and Weil
(3) Jerome Bruner

(4) Robert Glaser
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108.

109.

Which of the following statement is
not true in context of Scientific Inquiry
Training Model ?

(D

Knowledge is not absolute it is
changeable.

(2) There is no single answer of any
question. There are variety of way

to speak anything.
3)

Generally we all use inquiry
process to solve any problem.

There is no role of mutual
co-operation in inquiry process.

)

Which of the following statement is

seen as false in context of
constructivist learning ?
(1) In constructivist environment,

children learn more and enjoy
learning more when they are
actively involved.

(2) Constructivism concentrates on
learning how to think and
understand.

(3) Constructivist learning is not
transferable.

(4) Constructivism gives students

ownership of what they leamn
since the learning is based on
students questions and
explorations.

Which of the following is not the
elements of cooperative learning ?

Q)
2
€)
)

Positive interdependence
Only individual is Accountable
Promotive face to face interaction

Small group and Interpersonal
skills
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110. Which of

111.

112.

the following 1is the

characteristics of post implementation

of cooperative learning ?

(1) Specify instructional objectives of

co-operative learning
(2) Determine group size
(3) Monitor behaviour

(4) Reflect on what happened

Which of the following is not the
advantage of computer assisted
learning ?

(1) Self paced/self directed learning
(2) Learning Efficiency
(3) Computer Anxiety

(4) Enthusiasm

Which of the following is not the
correct pair in terms of their
abbreviation ?
(1} ‘CAl — Computer Assisted
Institution
(2) C.ALL - Computer Assisted
Language Learning
(3) CB.T. — Computer Based
Training
(4) W.B.T. - Web Based Training/
Tutorial
0z
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¢ 114,

115.

116.

Which of the following is not the
correct treatment  strategies  for

adolescent depression ?

(1) Cognitive behaviour therapy
(2) Interpersonal psychotherapy
(3) Longer term psychotherapy
(4) Antidepressants therapy

Which of the following is not the

dimension of emotional intelligence ?
(1) Emotional competency

(2) Emotional dearth

(3) Emotional maturity

(4) Emotional sensitivity

Which of the following is the
psychological barrier of

communication ?

(1) Til health

(2) Wrong pronunciation
(3) Excessive worry

(4) Cultural inequality

Who was the propounder of cone of
experience which is special type of
classification with the help of audio-
visual aids and experience for

multisensory instruction ?
(1) Edgar Dale

(2) Adler

(3) C.G.Jung

(4) Stagner
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e U = {x | x5 — 6x* + 11x3 — 6x2 =0}
e B A A = {x | X2 - 5x +6=
0}, B={x|x*-3x+2=0} & (AN B)
=l

1 {13}

2 {0.1.3}
(3) {0,1,2,3}

4) {2}

Ife AduT B S 9= &, @ (A -B) U
(B— A) ST ERT

(1) (AUB)-A

(2) (AUB)-B

(3) (AUB)-(ANB)

4) (A-B)n(AUB)

AT YuUIiehl 6 TY=d W U @ R
gfearfa 8 | afg (a, b) e R @ a3 b
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120.

FU={x|x>—6x*+11x3 - 6x2=0} is
the universal set and A = {x | x> — 5x +
6=0},B={x|x*-3x+2=0} then
(A A BY s

(1 {1,3}

(2) {0,1,3}

3) {0,1,2,3;

4) {2}

If A and B are two sets, then (A — B)
w (B —A)isequal to

(1) (AuB)-A

2) (AuB)-B

3) (AuB)-(AnB)

(4) (A—-B)n (A UB)

Let R be a relation defined on set of
integers.

If(a,b)e R< a and b both are
neither even nor odd,

then R is

(1) Reflexive and Symmetric
(2) Symmetric and Transitive
(3) Symmetric only

(4) An equivalence relation

A set contains (2n + 1) elements. The
number of subsets of this set which
contains more than n elements is

() 2°
() 20!
(3) 2%
(4) 221

02
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Ife B f(x) = x2 + 4x — 8 G TRATRE
feEu f: R > R, a9 £1(-3) &M

(0 1,-5)
2 (1, 1)

(3) 3.-9)
@ L35

Ife forell Q1 srarcfess, afte gEmel
7, Z,% T/, (2, + Z,) 3R (Z,Z,)
AT G 8,

(1) z,=-Z,
@ 2,=2,

7 =
(3) —J]_Zz

@) Z,=Z,

5
a J: i)maﬁ@m

|y g

(1) i
@y 1=i

@) 2i
@) 1-2i

Ife i " = A +iB, d A2 + B2 S0 R
(1) enB

(2) evnB

(3) euB!Z

( 4) e—nB;Q

121.

122.

123.

124.

If mapping f: R — R is defined by the
function f(x) = x2 + 4x — 8, then f(-3)
is

(1) (1,-5)
@ 4.1

3) 5.-9)
4 1.5

If for any two non-real, complex
numbers Z,, Z,, (2, + Z,) and (Z2,Z,)
are real number, then

(1) z,=-Z,
Q) 2,=Z,
1
(3) Zl=z_2
@) Z,=2,

The square of the complex number
2i

d+i)'s
1) i @) 2i
3) 1-i @) 1-2i

Ifil " = A + iB, then A2 + B2 is equal

to

(1) e™®
2) 7B
(3) ™2

(4) e—nBQ
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128.

o O g
(1) 222i-1

2) 1-24/2i

(3) 1+4/2i

@) 1-4/2i

tan™! @)aﬂ‘eﬁl?—crﬁmnm%

(1) 0
(2) o
3) log?2
(4) log4

afg —3i + 2j — 5k @1 2i — pj + gk
TR 9iey 7, a9

(1) p=4/3 q=-10/3

2) p=10/3 q=4/3

(3) p=—4/3 q=1013

4) p=4/3 q=1013

afs i farmg A, B, C 38 s & 6 2AC

=3CB, dl 20A + 30B S &

(1) 50C
(03]
3)

C)

e o T m— SR e T R S SR TS s T i S T} T S TS

F=3
o

125.

126.

127.

128.

The square root of the complex

nlumberUJr (81?3 '\E)i]
(1) 12i-1
(2) 1-21/2i
(3) 1+4/2i
@) 1-1[2i

henssgoncd 1Y,
The imaginary part of tan™! (é) is

() 0
(2)
(3) log2
(4) log4

If -3i + 2j — 5k and 2i — pj + gk are
parallel vectors, then

(1) p=4/3 q=-10/3
) p=10/3 q=4/3
(3) p=-4/3 q=10/3
4) p=4/3 q=1013

If A, B, C are three points such that

—— — o —
2AC = 3CB, then 20A + 30B is
equal to

e

(1) 5

@
0

()
€)

@) 2

3 &

|

o
@
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AB % STEU IS g P 2, il

(1) PA +PB =PC

() PA +PB =2PC

> > > 2
3) PA+PB+PC=0

» > >
4 PA+PB+2PC=0

o B

(1) a2?—(Z - b)>

@) a2+ (3 - b)?

afewr 25 - § + ak, 1+ 2) - 3k 3l
31— 4] + Sk oaea 8, A A BT AR R :

(1) 1
Q) 2
3) 3

4) 4
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129.

130.

131.

If C is the middle point of line
segment AB and P is any point outside
AB, then

_— - —
(1) PA+ PB =PC

) PA +PB =2PC

> > =¥
(3) PA+PB+PC=0

—  — —
(4) PA +PB +2PC =0

— -
For any two vector a and b, (@ x b)?

equals
(1) a2?—(a - b)?
2) a2+ b2

(3) al-b2

4) a2+ (a - b)

The vectors 2 —j + 7..12, 1+ 2:;'\ ~3k
and 31 - 43\ + 5k are coplanar, then
value of A is to

(1 1

(2) 2

3 3

4) 4




132, o l-lmx(l+acosx)—bsinx:1,?‘}r

x—=0 x3
a,bﬁl‘[ﬁ’(%
(1) a=%,b=%
#)) a=%,b=—%
3) a=-%,b=%
4 a=“%,b=—%

133. aﬁx=sece—coseaﬁ'{y=sec"6—

cos" 6, al (%xi)zw 2

n(y* +4)
(D 2+4

i e
(2) n(x + 4)

2 +4
ol
::2 +4
) n(x? + 4)

| 132.

i

|
i
|
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133.

134.

If lim

x(1 +acosx)—bsinx

x—0 x3

a, b are equal to

3 3

(1) a=3,b=3
5 3
3
(3) a=—5b=3

s _3

=1, then

If x=sec® —cos 0 and y = sec" 0 —

dv\2
cos" 0, then (Exzj is equal to

n?(y? + 4)
(1) =273
222 +4
n2(x% +4)

n(y? +4)

x2+4

2)

()

y>+4

n(x? + 4)

-9 ]

(1) zero

4)

(2) an

(3) 2an

4) a5

dy
, then de

18
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135. ARt x, y % @l Wl F € fx +y) = | 135, If fix +y) = f(x) - f(y) for all x and y.

f(x) - f(y) Suppose that f(3) = 3 and f'(0) = 11.
HHT f(3) =3qduT f'(0) =11, a9 f!(3) | Then '(3) is Cqual to
o BT 1) 22
(1) 22 L o
(2) 33 : -
(3) 28
(4) 30
(4) 30

i flath)—fla-h)

136. aft  fa) femm  ? @@ 136. If f(a) exists then

h—0 h
hli_1:1()f(a+h);f(a—h)ab_[m:r S foapal o
(1) f'(a)2 (1) f'(a)2
2 f'(a) @ '@
@) 2F@ (3) 2@
(4) f@)+2 @) £a)+2

A
jf(x)dx & ‘2;‘, then values of A and B
0
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137. AR f(x) = A sin[’% + B, f@ =2 | 137. 119 = A sin[?;—x] +B, f@ =2 and

! i

i

o [ e =22 @ A st B H |

0 4

!

|

!

!

i

|

3

|

!

g

|

T B are equal to
1 A—OB~—i
(1) A=0,B=—= (1) A=0, 2
T T T, I
2 A=5.B=3 2) A=%5.B=3
2 3 2 3
®) A=pB=% (3 A=pB=y
2 p- 4
4 A=_.B=0 4) A=_,B=0
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139.

140.

EDGETD 4

e |
1) yx-2)(x+2)-2 sec“%) +C
@) VG-2) x+2) —sec!5+C
(3) tan‘lg) —sec™! % +C

) 2tans-sec5+C

1
1+¢*

TR dx STET BT

(1) log(liexj+c

1
(2) 10g(1+ex)+x+c

(3) log(l +e)+x+C

4) log(l+e")+ef+C

j-l%dxiﬂ'ﬁ(%
-1

(1) 0
2) 1
3) 2

@ 3

|
|
|
i
|
i
i
|
!

i 138.

139.

140.

J'\/(x—2)(x+2)dxis
X

The integral

equal to

1) NG-2)x+2)-2 sec—'@ e
@ Va-2) (x+2)-sec!5+C
3) tan“[‘%] —sec! % +C

4) 2tan%—secg‘+ C

. 1 :
The integral ,[1 n eatdxls equal to

1
(1) log(l = e‘] +0

1
(2) log[1 Y e"] +x+C

(3) log(l+e9)+x+C

4) log(l+e)+e'+C

2

j% dx, equals
-1

(1) 0
2) 1
(3) 2

4) 3
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(2) 39

4

&)

(%]9+8é%]+[%):x2+sinx+2
d

& Hife 3 ama &, @

(1) m=3;n=9

2) m=3;n=35

(3) m=3;n=1

(4) m=3;n=2

y=0m3?

(1) —a
(2) -2a

1
3

1
G

199429 + .....+n”?

lim
Nsprond 1100
99
M 100
1
2) 39
1
3 Tor
1
® 700

. If m and n are the order and degree

respectively of the  differential

equation
()
2,\9 3
[%J +8%+[%]=x2+sinx+2,
(&
then
(1) m=3;n=9
2 m=3;n=35
(3) m=3;n=1
(4) m=3;n=2

. In the general solution of differential

equation cos ax dx + ¢ dy = 0, the

value of arbitrary constant at x, y = 0 is
(1) —a
(2) 2a

1
(€)

_—
( 2a
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144. aﬁ+2xy=2f:‘-"’?ﬂmgﬂ%

145.

146.

147.

(1) y=(@x+c)e™
2) y=2x¢e*

() y=e*

@) y=¢"

3dehel THIHT sin y dx + cos y - xdy =
2y dy T HTHI=I B 8

(1) xcosy=y*+C

(2) xsiny=y*+C

(3) cosy+xsiny=y?+C

(4) siny+xcosy=y?>+C

gl i dx + Bx —e¥)dy =0
1 FH B &

(1) xe¥-e¥=C
3 e
L R o

2) x+2x +

(3) xe¥=e¢f=0

(4) x+c=e¥-¢¥

5 :
e, + £ 27iC, S R

1 47C7

2) 52C3

3) szc4

5
@ *C,

144

145.

146.

147.

d 2.
. General solution of EJXC +2xy=2e* 18

(1) y=@x+o)e™
Q) y=2xe*

(3 p=e™

@ y=¢°

The general solution of differential
equation sin y dx + cos y - xdy = 2y dy
is

(1) xcosy=y*+C

(2) xsiny=y>+C

(3) cosy+xsiny=y2+C

4) siny+xcosy=y*+C

General solution of differential

equation dx + (3x —e*Y)dy =0 is
(1) xe¥—-e¥=C
2y

) x+%x2+62 =C

(3) xe¥¥—-e¥=C

4) x+c=¢e¥Y—¢

5
The value of 47(34 - igllsz B 'C3 is equal
to

47
m ¢,

52
@ *C,

3) 52C4

52
@ *c,

02
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weh wer-gfifiar 8, @t sfenfe =0
T g % et U Ta T o1 1 g
flgedl IN-=K @ Ted & TR,
dinr B T | A @ ™ wdl B B
T 53 B, At yESTa o wiawtwi &

e ot

148. In a tournament, all participants were

to play one game against each other,
two players fall ill after playing 4
games each. If the total number of
games played in the tournament is 53,
then the number of participants in the

beginning was

%
i 1) 10
(1) 10 ’ )
i 2) 12
) 12 | )
i 3) 14
3) 14 | ©)
| 4 11
4 11 |
. i
Ife T S = fereputt <ht o1 w61 44 i 149. If total number of diagonals of a
2, drzah gwaﬁﬁww% i polygon is 44, then the number of its
i sides is
1 7 ;
| 1y 7
2) 9 :
% ) 9
3) 11 i
) % 3) 11
4) 13 {
@ ] 4) 13
1)\2n < l ; s . .
(x2 +“£j % Taeam o xP (uﬁ Ifedsa '5:‘1) i 150. The coefficient of xP (if it exist) in the
' 2n
%1 T[T BT ! expansion of (x2 + ;) is
f
2n ! 2n
(1) Cp__.i | (1) Cp_3
2n | 2n
(2) C-’-m -p § (2) C4n -p
2n | n
2 i 2
i
2 : n
@ “Cun_p) @ "Cunp)
3 3
47
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